DGRV ERHNCIVISNND $.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0.:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA F A L EI 0 N I [ O 1 D706

Function02 Answers for No.9790
Ansl > blue

red

yellow

green

black

gray

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+40x] |
d=[y=3x+190]
=| . 4=[Profit: 1630] |, Ans7=[.2=[40]]
2=
21000 5= [139]
|.6=[y=18000- 130 x]]
DG R=Te (CHE NIV D 9:0:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.9:0.0.9:0.0.0.9:0.0.0.4

o 2=[y=170x]
} Ansjz[.l—[y—700x+14000]}’ st

= 3x
Ansd .2:[y=—+9100
100




D ERVERHNCIVISENED 0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA LA ZET 0 N0 10 [ 0125706

Function02 Answers for No.9888
Ansl > blue

red

black

yellow

green

gray

ON the line

NOT on the line
ON the line

NOT on the line

NOT on the line

NOT on the line
ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+50x] |

o 2=[y=170x]
: Ans5:[1_[y_1430x+13000]}, Ans6=| 4=[Loss: 16801 |, Ans7=[.2=[58]]
.2=27300 5o 1175]

L.6=[y=21000 - 120 x].
DG R=Te (CHENN IR D 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.0:0.0.9.0.0.0.9:0.0.0.4

J=[y=Tx+140]

= X
Ansd .2={y=_+ 10100
25
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Function02 Answers for No.9926
Ansl > yellow

gray

black

blue

green

red

ON the line

NOT on the line
ON the line

ON the line

ON the line

NOT on the line

NOT on the line
ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=17000+ 70 x]]

A=[y=6x+170] 2=[y=150x]
.]=[y:1760x+22000]}
Ans4 -2:@: x+10500}’ Ans5 [ 37840 , Ans6 4 =[Profit: 7601 |, Ans7=[.2=[53]]

100 S5=[213]
|.6=[y=17000 - 80 x].
DG R=-Te ICHE NIV H D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0:9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.0.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.9:0.0.0.9:0.0.04




D ERVERHNCIVINENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA o F A ET O N e [0 [ 01570 ¢
Function02 Answers for No.10106

Ansl > yellow

red

black

gray

blue

green

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+40x] |
d=[y=4x+160]

o 2=[y=180x]
x , Ansjz[.l—[y—2000x+20000]}, Ans6=| .4=[Profit: 22001 |, Ans7=[.2=[76]]
2=|y="—1+9000 .2=32000
25 5=[165]
|.6=[y=23000— 140 x]
DG R=-Te ICHE NN VIVIIX S I 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.0:0.0.0.4

Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FEX WA o F A I ET 0 N0 [0 [ 0 }59:0.¢
Function02 Answers for No.10139

Ansl > red

blue

black

gray

green

yellow

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+40x] |

oo 2=[y=140x]
x , Ans5=['1_[y_1150x+23000]}, Ans6=| 4 =[Profit: 1300] |, Ans7=[.2=[47]]
2=|y="—1+8000 .2=31050

25 5=[180]
|.6=[y=18000— 100 x]]
DG R=Te (CHE NN IVISH D 9:0:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0:9.9.0.9:0.0.0.0.0.0.0:0.0.0.4

A=[y=6x+190]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y LT WA LA ZET O N0 10 [ 015906
Function02 Answers for No.10356

Ansl > blue

red

yellow

black

green

gray

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=23000+ 40 x]]

o 2=[y=120x]
x , Ans5=['1_[y_850x+17000]}, Ans6=| .4=[Profit: 1000] | Ans7=[.2=[45]]
2=|y="+8700 .2=23800 5o (28]

|.6=[y=23000 - 80 x]
X [Page = 0006] XXXXXXXXXXXXXXXXKXKXXXKXXKXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK KK KXKXKK KK KKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KXKKKK KKK

A=[y=3x+180]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FEX WA F A EI N [0 [ 0 ) 0’6
Function02 Answers for No.10366

Ansl > yellow

green

red

gray

blue

black

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+50x] |

A=[y=Tx+160] 2=[y=180x]
d=[y= 1100x+22000]}
Ansd 2 :|:y: al + 9600:| ’ Ans? |: .2 =30800 ’ Ans6 4 [PrOﬁt‘ 970] ’ Ans7 [2 [71]]

100 S=[162]
L.6=[y=21000 - 130 x].
DG R=Te (CHE NIV R IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0.4




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y M LX WA o F A L ET O N e [0 [ 0} 5 0.6
Function02 Answers for No.10706

Ansl > red

gray

blue

black

yellow

green

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+30x] |

2=[y=130x]
.]=[y=2250x+25000]}
7 = = = : = =
.2={y=—x +9800}’ Ans? [ .2=149750 , Ans6 4=[Loss: 700] |, Ans7=[.2=[74]]

100 5=[210]
L.6=[y=21000 - 100 x].
DG R=-Te (CHE NN VIVI2 N IND 9:0:9.:0.9:9:9:0.9:9.0.9:0:0.9.0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.0.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.9.0.0.0.0:0.0.0.4

A=[y=5x+180]
Ans4 =
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Function02 Answers for No.10899
Ansl > green

black

blue

red

gray

yellow

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=17000+ 60 x] |
A=[y=5x+160]

—Ty= 2=[y=170x]
Ansd — .1—[y—1900x+19000]l st

7x = = = : = =

‘2:{)}:_ +6500}’ Ans5 [ 22136100 A4 =[Profit: 1040] |, Ans7=[.2=[84]]
100 5=[155]

L.6=[y=17000-110x].

X [Page = 0009] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXKKXKXKXKXKKKKXKXKXKK KX KKXKX KKK KKK KKK KKXKK KKK KKK KKK KXKK KKK KKK K KK KKKK KKK KKK K KKK
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Function02 Answers for No.10907

Ansl > yellow

black

green

gray

red

blue

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=20000+70x]]

I=[y=3x+190] 2=[y=140x]
.]=[y:1120x+16000]}
Ans4 .2=[y: x+9800}, Ans5 [ 529770 , Ans6 4 =[Profit: 2301 |, Ans7=[.2=[51]]

50 5=1286]

|.6=[y=20000— 70 x].
X [Page = 0010] XXXXXXXXXXXXXXXXXKXXXXXXXXXXKXKXXXKXKXKXKKXKKXKXKXKK KX KKXKXK KK KXKXKK KK EXKXKK KKK KKK KKK KKK KKK KXKKK KK KKK K KKK KXKKKK KKK
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Function02 Answers for No.10951

Ansl > blue

red

green

yellow

gray

black

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=19000+40x] |

o 2=[y=160x]

, Ans5=['1_[y_1350x+27000]}, Ans6=| .4=[Profit: 1280] |, Ans7=[.2=[86]]
2= 40500 5-[150]

|.6=[y=19000 — 120 x]_
DG R=Te (CHE NN RN IND 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9:0.9.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0:0.0.0.9:0.0.0.4

A=[y=Tx+150]

= 3x
Ansd .2={y=_+9200
50




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA O F A ZET N IO N 2D 0.6
Function02 Answers for No.11058

Ansl > gray

yellow

black

red

green

blue

ON the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+30x] |

J=[y=6x+150] 2=[y=130x]
Ansd = 3x , Ans5=['1_[y_2430x+27000]}, Ans6=| .4=[Profit: 1100] | Ans7=[.2=[63]]
2=|y=""1+8700 2= 48870
50 5=1220]

|.6=[y=22000 - 100 x]_
DG R=-Te ICHE NI ON NN IND 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9.0.9.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:0.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK XXX KKK KKK XXX KKK XXX KKK KKXXKKXXKXKXXMS /2-6700402-00013XX
Function02 Answers for No.11139

Ansl > red

gray

blue

green

yellow

black

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=18000+40x] |
d=[y=Tx+140]

2=[y=160x]
B .1:[y=2500x+25000]} ~ 3 . o
'2:[3’=i+6100} Ansj‘[ 2 =47500 , Ans6=|  4=[Profit: 480] |, Ans7=[.2=[54]]

25 S5=[150]
|6 =[y=18000— 120 x]]
DG R=-Te (CHE NNV ONECH D 9:9:9:9.9:9:9:0.9:9.0.9:0:0.9.0.0.0.:9:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.9:0.0.0:0.0.0.9:0.0.0.4

Ans4 =
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Function02 Answers for No.11142

Ansl > gray

red

yellow

green

blue

black

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=21000+ 70 x]

2=[y=160x]
.1:[y=1700x+17000]}
7 = = = N = =
'2:[y=_x+8400} Ans [ 2225500 , Ans6=| . 4=[Profit:420] | Ans7=[.2=[53]]

100 5=[234]
|.6=[y=21000 - 90 x]]
DG R=-Te ICHE NNV R/ NI 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0.0:0.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.9:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0:0.9.0.0.0.9:0.0.0.4

A=[y=5x+130]
Ans4 =
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Function02 Answers for No.11193

Ansl > red

green

yellow

black

gray

blue

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+50x] |

2=[y=170x]
B .Iz[y:1820x+26000]} ~ - . o
'2:[3’=i+8400}’ Am_[ 2= 42380 . Ans6=| .4 =[Profit: 1480] | Ans7=[.2=[58]]

25 5=[192]

|.6=[y=23000— 120 x]_
DG R=-Te [CHE NI ONECH D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.:0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.9.0.0.0.9:0.0.04

A=[y=5x+130]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT WA o F A ET N [ O N N9 06
Function02 Answers for No.12037

Ansl > blue

green

red

gray

black

yellow

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=18000+70x] |

2=[y=170x]
.]z[y:2400x+24000]}
7x = = = N = =
'2:{y=_+8400}’ Ans3 [ 2= 40800 , Ans6 A =[Loss : 1100] |, Ans7=[.2=[44]]

100 5=[180]
L.6=[y= 18000 — 100 x]
X [Page = 0016] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK KK KXKXKK KK KKXKK KKK KKK KKK KKK KKK KKK K KK KKK K KKK KXKKK KKK

A=[y=4x+140]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA F A EI N IO N D 06
Function02 Answers for No.12111

Ansl > black

red

blue

yellow

green

gray

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[.1=[y=18000+70x]]

2=[y=140x]
.]:[y:1620x+18000]}

X = = = : = =

'2:[y=—+9000 , Ans) [ 2=35820 , Ans6=| .4=[Profit: 690] |, Ans7=[.2=[59]]

20 5=[258]

|.6=[y=18000 - 70 x]
DG R=Te (CHE NI ON R IND 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=4x+140]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA F A T N IO N =D 0.6
Function02 Answers for No.12116

Ansl > black

green

blue

red

gray

yellow

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

.1 =[y=20000+30x] |

o 2=[y=170x]

2_[ _L+7400}, Ans5=['1_[y_21_172(;g7zl3000]}, Ans6 = A4 =[Loss:540] |, Ans7=[.2=[48]]
2=|y="3 2= 5=[143]

|6 = [y = 20000 — 140 x]]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKXKKKKXKXKXKXKKXKX KKK KKK KKK KKK KKK

A=[y=6x+160]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA LA EL N IO N N°) 0’6
Function02 Answers for No.12179

Ansl > blue

green

gray

black

yellow

red

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=20000+50x] |

v — 2=[y=170x]

\ Ans5=['1_[y_1150x+23000]}, Ans6=| 4=[Loss: 15201 | Ans7=[.2=[47]]
.2 =34500 S=[167]

|.6=[y=20000— 120 x]_
DG R=-Te ICHESNVIONECE D 9:0:9:0.9:9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4

d=[y=Tx+140]

= 3x
Ansd .2={y=_+7500
50




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK KKK XXX KKXXKXKXKXMS /2-6700402-00020XX
Function02 Answers for No.12324

Ansl > green

gray

blue

black

red

yellow

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+50x] |
A=[y=Tx+170]

2=[y=160x]
B .1:[y=2310x+21000]} ~ 3 . o
'2:[y=i+9300}’ Am_[ 2=32550 , Ans6=|  4=[Loss:1330] | Ans7=[.2=[45]]

25 5=[210]

|.6=[y=23000-110x].
DG RETe (CHENN IR IND 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4

Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FEX WA F A EI N0 [ 2N D 06
Function02 Answers for No.13087

Ansl > black

green

gray

blue

red

yellow

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=19000+ 70 x]

o 2=[y=120x]
2_[ _Tx +9800}’ Ansjz[,l_[y—21_54;(;:07;14000]}, Ans6=| 4=[Loss:250] |, Ans7=[.2=[61]]
|6 =[y=19000— 50 x]]
X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKKKKKXKXKKXKXKX KKK KKK KKK KKK KKK

A=[y=3x+150]
Ans4 =




D ERVERHNCIVISENED 0.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y LT WA LA ET N0 10 )2325°0 ¢
Function02 Answers for No.13339

Ansl > red

black

green

blue

yellow

gray

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

1 =[y=22000+40x] |

2=[y=180x]
B .1:[y=1000x+20000]} ~ - . o
'2:[y=i+9100}’ Am_[ 2=27000 , Ans6=| 4=[Profit: 1660] |, Ans7=[.2=[52]]

25 5=[158]

|.6=[y=22000— 140 x]_
DG RE-Te ICHEN IV R D 9.0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=4x+130]
Ans4 =




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y LT WA F A ET 0 10 10 )23C) 0.6
Function02 Answers for No.13340

Ansl > gray

yellow

green

blue

black

red

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=19000+ 60 x] |
A=[y=Tx+150]

- 2=[y=180x]
s — .]—[y—1400x+28000]}, st

|ox ,Ans5=[ - =|  4=[Loss:520] | Ans7=[.2=[44]]
.2—{y— v 10200} .2 = 40600 5= [159]

L.6=[y=19000 — 120 x].
DG R=Te [CHE VIS D 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:90.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:0:0.0.0.0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.0:0.0.0.4




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX KKK XXX XKXXKXKXKXMS /2-6700402-00024XX
Function02 Answers for No.13350

Ansl > gray

red

green

black

yellow

blue

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+50x] |

2=[y=180x]
.]z[y:2000x+20000]}
7 = = = N = =
'2:{y=—x +6700}’ Ans3 [ .2=38000 , Ans6 4=[Loss : 1680] |, Ans7=[.2=[84]]

100 S=[177]
L.6=[y=23000— 130 x]
DG R=Te ICHE NIV Y S I 9.0:9.:0.9.9:9:0.9:9.0.9:0.:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.9.0:0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0:4

A=[y=6x+140]
Ans4 =




D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FEX WA LA EL 0 10 10 )2359:0.¢
Function02 Answers for No.13361

Ansl > yellow

blue

green

gray

red

black

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+60x] |
d=[y=Tx+190]

- 2=[y=160x]
s — .1—[y—1330x+19000]}’ st

x ,Ans5=[ =|  4=[Profit: 1001 |, Ans7=[.2=[59]]
2=|y="o 2=

2 {y 20+10300} 32300 5= [210]

|.6=[y=21000— 100 x]
DG RETe [CHE NN D 9:0:9.:9.9.9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT WA LA EL 0 0 10 )24 ) 06
Function02 Answers for No.13396

Ansl > blue

green

red

yellow

gray

black

ON the line

ON the line

NOT on the line

NOT on the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+40x] |

v — 2=[y=150x]

, Ans5=['1_[y_1080x+18000]}, Ans6=| .4=[Loss: 16401 |, Ans7=[.2=[83]]
2 =26640 5o 1101]

L.6=[y=21000-110x].
DG R=-Te ICHE NIV D 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.:0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4

I=[y=6x+170]

= 3x
Ansd .2:[y:—+6800
50




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT WA F A EL N0 [ 2D 06
Function02 Answers for No.13406

Ansl > green

red

blue

gray

yellow

black

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=18000+50x] |

2=[y=180x]
1 =[y=2090 x + 19000]}
7 = = = N = =
'2:{y=—x+9500}’ Ans3 [ 2235720 , Ans6 A4 =[Loss:580] |, Ans7=[.2=[74]]

100 S5=[139]
L.6=[y=18000— 130 x]
DG R=Te ICHE NI W B D 9.:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0.:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.0.9.0.0:9:0.0.9.0.0.0:0.0.9.0.0.0:0.0.0:0.0.0.9:0.0.0.4

A=[y=4x+150]
Ansd =




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XKXXKXKXKXMS /2-6700402-00028XX
Function02 Answers for No.13433

Ansl > red

gray

green

yellow

blue

black

ON the line

NOT on the line

ON the line

ON the line

ON the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+30x] |

v — 2=[y=150x]

, Ans5=['1_[y_1500x+25000]}, Ans6=|  4=[Loss:960] |, Ans7=[.2=[54]]
2 =35500 5o 1175]

|.6=[y=21000 - 120 x]_
DG RE-Te ICHENI0VA N IND 9:0:9.:0.9.9:9:0.9:9.0.9:0:0.9:0.0.0:9:0.0.9.0.0.0:9.0.9:9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.9.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0:0.0.0.9:0.0.0.4

d=[y=3x+130]

= 3x
Ansd .2={y=_+7200
50
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Function02 Answers for No.13473

Ansl > black

gray

blue

red

green

yellow

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+30x] |
A=[y=4x+170]

- 2=[y=180x]
s — .1—[y—1300x+13000]}’ st

|ox ,Ans5=[ > =|  4=[Loss:1250] | Ans7=[.2=[60]]
.2—{y— v 10600} .2=24700 5o [134]

L.6=[y=20000— 150 x].
X [Page = 0029] XXXXXXXXXXXXXXXXKXKXXXXXXXKXXKXKXKXXKKXKXKXKXKXKKXKXKXKK KX KKXKKK KK KXKXK KKK EXKXKK KKK KKK KKK KKK KKK KKK K KK KKK K KKK KXKKKK KKK
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Function02 Answers for No.13485

Ansl > red

yellow

gray

blue

green

black

ON the line

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=21000+50x] |

= 2=[y=160x]
: Ans5:[1_[y_2160x+27000]}, Ans6=| .4=[Loss: 15301 |, Ans7=[.2=[59]]
.2=37800 5o 1101]

L.6=[y=21000- 110 x].
DG R=-Te (CHENNVIVCI N IND 9:9:9:9.9:9:9:0.9:9.0.9:0:0.9:0.9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0:0.0.0:0.0.9.0.0.0:0:0.0.0.0.0.9:0.0.0.4

I=[y=3x+190]

= 7x
Ansd .2=[y=—+ 7700
100




D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9.:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y FEX WA F A EI N [ J 1 D 06
Function02 Answers for No.14126

Ansl > yellow

blue

black

gray

red

green

ON the line

NOT on the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

(.1 =[y=23000+50x]]

J=[y=4x+140] 2=[y=120x]
Ansd = 3 x , Ans5=['1_[y_960x+16000]}, Ans6=| .4=[Profit: 8701 | Ans7=[.2=[50]]
2=|y=""—1+10500 2= 24640
100 5=1[329]

|.6=[y=23000 - 70 x]]
DG R=Te (CHE NIV H N IND 9:0:9:9.9.9:9:0.9:9.0.9:0:0.9:0:0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9.0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.9:0:0.0:0.0.0.9:0.0.0.4



D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y LT WA F A ET 10 10 JC 12570 ¢
Function02 Answers for No.14148

Ansl > gray

green

red

blue

yellow

black

NOT on the line

NOT on the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=19000+ 40 x] |
d=[y=5x+180]
Ansd = =| 4=[Profit: 14001 |, Ans7=[.2=[42]]
2=
37570 5= [190]
.6 =[y=19000— 100 x1]
DG RETe ICHE NIV A D 9.0:9.:0.9.9:9:0.9:9.0.9:0:0.9.0.9.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.9.0:0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.0:0.0.0.4

o 2=[y=140x]
}’ Ans5=[1—[y—187Ox+17000]}’ st

7 x
.2:{y=—+ 9000
100
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Function02 Answers for No.14313

Ansl > gray

black

red

green

yellow

blue

ON the line

NOT on the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+50x] |

d=[y=3x+140] 2=[y=150x]
.]:[y:1980x+18000]}
Ans4 ‘2:[y: x+7600}, Ans5 [ 31360 , Ans6 4=[Loss: 12001 | Ans7=[.2=[79]]

100 5=[200]

L.6=[y=20000— 100 x].
DG R=Te [CHENVIVCICH D 9:0:9:9.9:9:0:0.9:9.0.9:0:0.9.0:9.0:9:0.0.9:0.9.0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.0.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0.0.9.0.0.0.9:0.0.0.4
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Function02 Answers for No.14370

Ansl > blue

yellow

black

red

gray

green

ON the line

ON the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ . 1=[y=20000+40x] |

2=[y=160x]
~ .]=[y:780x+13000]} ~ - . o
.2:|:y:i+76()() ’ AnS5—|: 2= 18460 , Ans6 = A4 =[Loss : 80] , Ans7=[.2=[56]]

25 S5=[167]
L6 =[y=20000— 120 x]
DG RETe ICHENVIVCY S IND 9:0:9:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:0:0.0.9:0.0:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0:0.0.0:9:0.0.9.0.0:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0:0.0.0.0.0.9:0.0.0.4

A=[y=6x+160]
Ans4 =
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Function02 Answers for No.14377
Ansl > blue

yellow

green

black

gray

red

NOT on the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=19000+30x] |

2=[y=130x]
B .1:[y=1920x+24000]} ~ 3 . o
'2:[y=i+9900}’ Am_[ 2=45120 . Ans6=|  .4=[Profit: 600] |, Ans7=[.2=[66]]

25 5=[190]

|.6=[y=19000 — 100 x]_
DG RETe [CHE NIV D 9:0:9:0.9.9:9:0.9:9.0.9:0:0.9.0.9.0:0:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9:9.0.0:9:0.9.9.0.0:0:0.0.9:9.0.9:0.0.9.0.0.0:9:0.0.0.0.0:0:0.0.9.0.0.0:0.0.0.0.0.0.9:0.0.0.4

A=[y=5x+170]
Ans4 =
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Function02 Answers for No.14430

Ansl > black

red

green

gray

yellow

blue

ON the line

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=20000+40x] |

2=[y=160x]
B .1:[y=2340x+26000]} ~ 3 . o
? :[3’=i+8000} Ansj‘[ 2= 142380 » Ans6=|  A4=[Profit: 5201 |, Ans7=[.2=[47]]

25 S5=[167]
|6 =y =20000— 120 x]]
X [Page = 0036] XXXXXXXXXXXXXXXXKKXXXXXXXXXXKXKXXXXKXKXKXKXKKXKXKXKK KX KKXKXK XK KXKXKK KK EXKXKK KKK KKK KKK KKK KKK KKK K KK KKKK KKK KXKKKK KKK

A=[y=4x+190]
Ans4 =
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Function02 Answers for No.14432

Ansl > yellow

blue

green

gray

black

red

ON the line

NOT on the line

ON the line

ON the line

ON the line

NOT on the line

NOT on the line

ON the line

o U1 W N

VVVVVVYVVYVYVYVYVYV

Ans?2

Ans3

oQwrUoQwW® -

[ 1=[y=23000+60x] |
d=[y=6x+190]

- 2=[y=170x]
sd .1—[y—2320x+29000]}’ st

7x Ans5 :[ —| 4= [Profit: 1001 |, Ans7=[.2=[69]]
2=|y=""4+9900 |/ 2= 45240 ’

{y 100 } 5=[210]
| 6=[y=23000—110 x].
DG R=Te (CHE NIV N R IND 9:0:9.:0.9.9:0:0.9:9.0.9:0:0.9.0.0.0:9:0.0.9:0.9:0:9.0.9:9.0.9:0:0.0.0.0.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.9.9.0.0:9:0.0.9.0.0:0:0.0.9:9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.9.9.0.0:0.0.0:0.0.0.9:0.0.0.4
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